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Guess Paper – 2010

Class – XII

Subject –Mathematics  
(i) All questions are compulsory 

(ii) The question paper consists of 29 questions divided into three sections A,B and C. Section A comprises of 10 questions of one mark each, Section B comprises of 12 questions of 4 marks each and Section C comprises of 7 questions of 6 marks each. 

(iii) All questions  in Section A are to be answered in one word, one sentence or as per the exact requirements of the questions.

(iv) There is no overall choice. However, internal choices has been provided in 4 questions of 4 marks and 2 questions of 6 marks. You have to attempt only one of the alternatives in all such questions.

(v) Use o f calculators is not permitted

SECTION A

1. Find the equation of a line which passes through the point (-4,2,-3) and is parallel to the 
   line
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2. Find 
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3. Find the  projection 
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4. Evaluate 
[image: image20.wmf]þ

ý

ü

î

í

ì

÷

ø

ö

ç

è

æ

-

-

2

1

cos

3

cos

1

p


5. If 
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6. A matrix has 18 elements. Write the possible orders of a matrix.
7. Find x if 
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8. Given a square matrix of order 3 x 3, such that 
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9. Find the order and degree of the differential equation 
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10. Find 
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SECTION B

11. Using  properties of determinants prove that 
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 = ( a + b + c) (a2 + b2 + c2) 
12. Let A = QxQ and * be the binary operation on A defined by (a,b) * (c,d)  = (a+c, b+d). Show that * is commutative and associative. Find the identity element   and invertible elements for * on A, if any.

13. Prove that  
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14. For what value of k,is the function
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15. If 
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16. Find the intervals in which the function f(x) = sin x - cos x is increasing or decreasing on [0,
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18. Evaluate               
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19. A card from a pack of 52 cards is lost. From the remaining cards of the pack, two cards are drawn and are found to be both diamonds. Find the probability of the lost card being a diamond?
20. If 
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 are the position vectors of the vertices of a triangle, show that the area of the triangle = 
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21. A variable plane which is at a constant distance p form the origine meets the coordinate axes  in points A, B and C respectively. Through these points, planes are drawn parallel to the coordinates planes, show that locus of the point of intersection is 
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  OR
.Find the coordinates of the foot of the perpendicular drawn from the point (0,2,3) ti the line 
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.Also find the length of the perpendicular

22. Form the differential equation of the family of circles touching the y axis at the origin.

OR
 Solve the differential equation 
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SECTION C

23. Solve the system using matrices 2/x + 3/y +10/z = 4,  4/x – 6/y + 5/z = 1, 6/x + 9/y – 10/z =4.

24. Find the equation of the line passing through the point P,(4,6,2) and the point of intersection of the line 
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25. Find 
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 the definite integral as the limit of sums

26. A square piece of tin of side 18 cm is to be made into an open box with out top, by cutting a square piece from each corner and folding up the flaps to form the box. What should be the side of the square to be cut off so that the volume of the box is the maximum possible?  OR

A window is in the form of a rectangle surmounted by a semicircular opening. The total perimeter if the window is 10 m. Find the dimensions of the window to admit maximum light though the whole opening.
27. If  a fair coin is tossed 10 times, find the probability of  (i) exactly six heads.   ii) at least six heads.  iii) at most six heads. 

28. Find the area lying above X axis and included between the curves  x
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29. A man owns a field of area 1000 sq.meter. He wants to plant trees in it. He has a sum of Rs.1400 to purchase young trees. He has a choice of two types of trees. Tree A requires 10 sq.m of ground per tree and costs Rs 20 per tree and type B requires 20 sq.m of ground per tree and costs Rs 25 per tree. When fully grown, type A produces an average of 20kg of fruits which can be sold at a profit of Rs 2 per kg and type B produces an average of 40kg of fruits which can be sold at a profit of Rs 1.50 per kg. How many trees of each type should be planed to achieve maximum profit when the trees are fully grown?. What is the maximum profit.
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